BK Lyx

Partavling Partnergaranti 2022-06-02

Partavling, 10 bord, 20 par. Antal brickor: 27. Medel: 243.0.

Plac Par Poang % Namn MID Klubb
1 16 299.6 61.64 Lars-Hakan Wilhelmsson - Ulla Westerlund 11852 10090  BK Lyx - Asper6-Brannd BK
2 18 289.2 59.50 Lars Hansson - Sven Olof Jern 40795 40796  Aspero-Branno BK
3 13 280.7 57.76 Stefan Corneliusson - Tommy Somlo 38625 12620 BK Everfresh
4 2 267.2 54.99 Gunnar Ohlson - Anna Kuutti 5078 200830 Askims BK - BK Albrekts
5 8 258.0 53.09 Nina lIsetorp - Terje Lie 14110 5024 Lerums BK - BK Lejonet
6 12 2543 52.33 Per Sjoberg - Tomas Andgren 2494 49953  BK Lyx
7 10 247.7 50.96 Britt Larsson - Peter Giese 86952 20595  Askims BK - Frélunda BS
8 6 246.0 50.62 Jan Ahlgvist - Jan Konar 10458 9717 BK Lyx
9 9 246.0 50.62 Jan Andersson - Ann Bergqvist 37709 32898  BK Lyx - Kronhusklubben
10 5 243.3 50.07 Christer Tornqvist - Bjorn Wenander 20612 4856 BK Lejonet
11 1 240.8 49.55 Sven Nilsson - Annika Wallén 53041 64867 BK Debut
12 17 2371 48.78 Tobias Bende - Magnus Lundgren 27672 7494 BK Everfresh
13 4 233.0 47.94 Curt Marcusson - lvan Johnsson 5075 5076 Askims BK
14 19 228.0 46.92 Tadashi Suzuki - Inger Carlstedt 83044 87216  BK Lyx - BK Everfresh
15 14 2278 46.88 Sven-Olof Jarkvist - Paul Jigberg 25822 23096 BK Lejonet - BK Debut
16 7 220.0 45.27 Joakim Olsson - Carl Ek 80478 5294 Bohus Nations BS - BK Lejonet
17 3 215.5 44.34 Axel Selvén - Gustav Strandlycke 63229 200832 BK Albrekts
18 11 211.3 43.48 Bjorn Olofsson - Anna Wallgren 52939 25447 BKLyx
19 20 2102 43.26 Mats Allgéwer - Ella Olsson 8386 20412  BK Lejonet - BK Lyx
20 15 204.2 42.01 Patrik Clevstrom - Annika Corneliusson 52591 38624  BK Everfresh
1 4 K5 Bésta kontrakt 2 4 Kn10873 Basta kontrakt 3 4 K104 Bésta kontrakt
Nord v Kn32 44 N D -1-100 Ost vE2 44 O D -1 100 Syd vD 44 V =-620
Ingen + DKn6 NS + KD104 ov 742
«D7654 & ¢ v & NT %94 & ¢ v & NT #KKn10832 & ¢ v & NT
4D10843 4 E972 N9 9 447 465 a- N3 4497 49863 4 ED7 N65333
vEKD84 v106 S 99447 v 864 v KDKn95 S 24497 v963 vEKKn107 S 6 5 3 3 3
+ 104 49873 0449 9 4 + E98 ¢ Kn7632 09 98 314 ¢E93 105 07 8 9 109
»8 #Kn32 V44994 #ED532 #Kn86 V9993414 D64 #E97 vV 7 8 9 109
4 Kn6 & EKD942 & Kn52
v 975 v 1073 v 8542
¢ EK52 +5 + KDKn86
#EK109 «K107 &5
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 3 3&S+l1 vA 130 180 00| 6 3 54 S= v4 650 160 20| 8 7 4v0O-1 +K 100 16.0 2.0
8 7 3NV-2 vA 100 16.0 2.0|14 11 44 S+1 #A 650 160 20| 9 5 4v0-1 +K 100 16.0 2.0
17 16 44 N-1 aA 50 14.0 4.0|15 20 44 S+1 46 650 160 20(10 1 4v0O-1 *5 100 16.0 2.0
2 4 2NS-2 vA -100 120 6.0 9 5 44 S= 46 620 11.0 7.0|15 20 2#S-1 v3 -50 120 6.0
15 20 34 O= *A -140 8.0 10.0|17 16 44 S= 45 620 11.0 7.0|14 11 3¢ S-2 v9 -100 10.0 8.0
18 13 34 O= ¢ A -140 8.0 10.0| 8 7 5vDV-2 4 300 8.0 10.0|18 13 2NO= +K -120 8.0 10.0
19 12 24 O+1 ¢A -140 8.0 10.0|18 13 34 S= v4 140 6.0 120| 6 3 3y O+1 &5 -170 4.0 14.0
9 5 34DV= ¢Q -530 20 16.0| 2 4 44 S-1 v6 -100 20 16.0|17 16 3vy O+1 &5 -170 4.0 14.0
10 1 34DO= @A -530 20 16.0|/10 1 54 S-1 *A -100 20 16.0|19 12 3y O+1 &5 -170 4.0 14.0
14 11 34DO= #A -530 2.0 16.0|19 12 44 S-1 vA -100 20 160 2 4 2NO+2 &2 -180 0.0 18.0
4 «D9 Bésta kontrakt 5 4 E105 Bésta kontrakt 6 4 D976 Bésta kontrakt
Vast v 108763 4¢ V =-130 Nord v K6 24 N =110 Ost v EK108 24 S =110
Alla ¢+ Kn4 NS 49865 ov + 862
#KD43 & ¢ v & NT »K987 & ¢ v & NT #83 & ¢ v & NT
4K853 41062 N7 3644 4 Kn87 4 D43 N7 7587 442 4 EKn103 N6 7887
v42 v EKKn9 S73644 vDKn104 vE932 S77687 v 954 v 632 S6 7887
+ D63 ¢ K10985 O 6 107 8 8 ¢EKn42 +73 065756 ¢ DKn104 ¢ E3 O75556
#E1092 &7 V 6 107 8 8 *32 #D1065 V66756€6 #K1075 #D962 V755586
4 EKn74 & K962 & K85
vD5 v 875 v DKn7
¢E72 + KD10 + K975
#Kn865 #EKn4 #EKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
16 20 1a V= +J -80 180 00| 1 6 INN+1 v2 120 16.0 20|19 14 2&V-1 vK 100 18.0 0.0
18 17 INV= oK 90 16.0 20| 7 4 INN+1 &3 120 160 20| 1 6 INS= &5 90 10.0 8.0
7 4 24V+1l &K -140 140 4.0(10 2 INN+1 %6 120 160 20| 3 5 INS= +Q 90 10.0 8.0
1 6 3¢ 0+2 vQ -150 11.0 7.0(18 17 INN= v3 90 120 6.0| 9 8 INS= +Q 90 10.0 8.0
3 5 INV+2 «Q -150 110 70| 9 8 2NN-1 43 -100 80 100|10 2 INS= a4 90 10.0 8.0
11 13 24 V+2 vT -170 7.0 11.0|16 20 24 S-1 vQ -100 8.0 10.0|15 12 2¢ N= &5 90 10.0 8.0
19 14 24 V+2 &K -170 7.0 11.0|19 14 INN-1 5 -100 8.0 10.0|16 20 INS= &7 90 10.0 8.0
9 8 INDO= &6 -180 4.0 140|115 12 2v V= +6 -110 40 140|118 17 INS= +Q 90 10.0 8.0
15 12 2v N-3 +9 -300 20 16.0| 3 5 INS-2 vQ -200 10 170| 7 4 3NS-1 +Q -50 20 16.0
10 2 2NS-4 +3 -400 0.0 18.0|11 13 24 S-2 vQ -200 1.0 17.0(11 13 INO+1 7 -120 0.0 18.0

BK Lyx, Partavling Partnergaranti 2022-06-02, sida 1 av 3




7 4 D1064 Basta kontrakt 8 4 E109 Basta kontrakt 9 41097 Basta kontrakt
Syd v10 5NTV =-660 Vast v EKn54 6NT N =990 Nord vD1084 44 N =420
Alla *76 Ingen +E5 ov + D53
#EKN10743 & ¢ v & NT #Kn984 & ¢ v & NT #542 & ¢ v & NT
a7 « EKKn85 N56 152 & KKn542 463 N 105 129 12 & K54 32 N 5 105 107
vEKn85432 v KD S56122 vD732 v- S 105 129 12 vKKn732 vE96 S 5 105 107
4103 ¢+ ED4 07 7 118 11 ¢+ D42 ¢+Kn9g8763 O 3 8 1 3 1 ¢ Kn8 4762 08 3833
#952 +D86 V77117 11 +10 #K7652 V38131 #DKnl1l0 #K9863 vV 838 33
4932 » D87 » EDKn86
v 976 v K10986 v5
+ KKn9852 + K10 + EK1094
&K #ED3 »E7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
12 14 44 O-3 &K 300 180 00| 2 7 4vyDS= &T 590 180 00|10 3 44 S+1 v2 450 18.0 0.0
2 7 6NO-1 a2 100 16.0 2.0(17 20 3NN+3 46 490 160 20| 1 9 44 S= *Q 420 13.0 5.0
10 3 4v V= &A 620 120 6.0 8 5 4vy S+2 &T 480 140 40| 8 5 44 S= *0Q 420 13.0 5.0
16 13 4v V= 46 -620 120 6.0 1 9 4y S+1 &T 450 8.0 10.0|11 15 44 S= L o) 420 13.0 5.0
19 18 4v V= &J -620 120 6.0(10 3 4y S+1 &T 450 8.0 10.0|17 20 44 S= *Q 420 13.0 5.0
4 6 4y V+1l 46 -650 6.0 12.0|11 15 4y S+1 &T 450 8.0 10.0| 4 6 14 S+3 #Q 170 5.0 13.0
8 5 5vV= *7 -650 6.0 12012 14 4vy N+l 46 450 8.0 10.0(12 14 24 N+2 YA 170 5.0 13.0
17 20 4y V+1 46 -650 6.0 12.0(16 13 4v S+1 T 450 8.0 10.0|16 13 34 S+1 #Q 170 5.0 13.0
1 9 4v0+2 &K -680 20 160 4 6 4vy N= 46 420 10 17.0|19 18 14 S+3 #Q 170 5.0 13.0
11 15 6v O= &K -1430 0.0 18.0|19 18 4v S= &T 420 1.0 170 2 7 INN= v2 90 0.0 18.0
10 « EKn1054 Bésta kontrakt 11 4 Kn9832 Bésta kontrakt 12 & E42 Bésta kontrakt
Ost v 9652 2NT S =120 Syd v- 54 S =450 Vast v K106 3v V =-140
Alla ¢+ E6 Ingen ¢ Kn764 NS + 1086
*E6 & ¢ v & NT #EKKn6 & ¢ v & NT #KKn65 & ¢ v & NT
2 K9632 4D8 N9 4758 104 « D76 N 118 8 1110 K85 473 N85 4865
vD10 v EKKn4 S94758 vKDKn87 v65 S 118 9 1110 vKn975 vED43 S85 485
¢ 10542 ¢ K983 0466765 4932 ¢ EK1085 025423 4952 ¢ EKn743 O58856
&54 #Kn97 V466775 +D75 #1084 V25423 D107 #E9 V58958
a7 & EK5  DKn1096
v 873 v E109432 v 82
¢ DKn7 +D + KD
#KD10832 %932 #8432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 7 INO-2 &K 200 150 3.0 3 8 34 N+2 ¢A 200 170 10| 9 6 INO-2 +Q 100 17.0 1.0
10 4 INO-2 &K 200 150 3.0(11 19 3¢ O-4 s A 200 170 1.0(11 19 3v V-2 s A 100 170 1.0
11 19 INO-2 &3 200 150 3.0(10 4 3a N+1 ¢A 170 140 40(10 4 3v V-1 *T 50 11.0 7.0
13 15 2v O-2 a7 200 150 3.0 5 7 3¢ 0-3 4 A 150 120 6.0|12 16 INO-1 +Q 50 11.0 7.0
12 16 2#S+1 vQ 110 1000 80|20 18 2v S+1 &T 140 100 8013 15 2¢ O-1 v8 50 11.0 7.0
9 6 INO-1 &K 100 70 1101 2 1 2NN= ¢+ K 120 8.0 10.0|20 18 3v V-1 s A 50 11.0 7.0
17 14 INO-1 &K 100 70 11.0|12 16 2v S= T 110 50 13.0| 2 1 INV= a2 -90 5.0 13.0
2 1 2vN-1 &7 -100 3.0 15017 14 2v S= +3 110 50 130 5 7 INO= +Q -90 5.0 13.0
20 18 14 N-1 vA -100 30 150 9 6 2vS-1 oT -50 20 16.0|17 14 2v V= &6 -110 2.0 16.0
3 8 20 0+1 42 -110 0.0 18.0|13 15 4v S-2 T -100 0.0 180| 3 8 2vV+l +6 -140 0.0 18.0
13 sE Basta kontrakt 14 4E72 Basta kontrakt 15 D5 Basta kontrakt
Nord v 1098653 2¢ O =-90 Ost v K42 44 O =-130 Syd v KD10653 4¢ V D -2 300
Alla +D72 Ingen + K632 NS + 1054
*K42 & ¢ v & NT «D82 & ¢ v & NT #ED & ¢ v & NT
4 Kn73 4 K952 N55 7565 4 KKn3 4984 N3 84765 4 K10873 & EKn N759729
vKKn42 vE S55755 v D65 vE1083 S37 464 vKn987 v2 S75979
¢+ E6 ¢Kn10953 0O 8 8 5 7 7 ¢+Kn9%4 +E O 105 8 6 8 + 876 ¢+ ED932 O6 8 36 4
#E1095 4863 V88577 #Kn763 #EK954 V 105 8 6 8 *2 #Kn8753 V68364
« D10864 4 D1065 49642
vD7 v Kn97 vE4
+ K84 + D10875 + KKn
#DKn7 +10 +K10964
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 9 2¢yDN= ¢ 670 180 00| 6 8 2NV-1 ¢2 50 16.0 20|12 11 4v N= s A 620 18.0 0.0
10 5 3NV-2 vT 200 16.0 2.0(18 15 3#0-1 +8 50 160 20| 3 2 540-5 v4 250 16.0 2.0
12 11 2v S= ¢A 110 140 40|20 19 INO-1 +6 50 160 20| 4 9 3vN= &7 140 11.0 7.0
3 2 INV-1 vT 100 11.0 70| 1 7 INO= +3 90 120 6.0|{10 5 3v N= &5 140 11.0 7.0
13 17 INV-1 v8 100 11.0 70| 4 9 2NO= +5 -120 9.0 9.0(13 17 3vy N= ¢ A 140 11.0 7.0
6 8 2y N-1 +J -100 6.0 120(10 5 INO+1 5 -120 90 90|18 15 3v N= 4 A 140 11.0 7.0
14 16 2v N-1 +6 -100 6.0 12.0(14 16 3 O+1 &T -130 6.0 12.0|20 19 3¢ V-2 vK 100 6.0 12.0
18 15 2v N-1 +J -100 6.0 120 3 2 INV+2 42 -150 20 16.0|14 16 3¢ V-1 vK 50 4.0 14.0
1 7 240+1 vQ -140 20 16.0(12 11 INV+2 v2 -150 20 16.0| 1 7 4v N-1 4 A -100 1.0 17.0
20 19 INV+2 v3 -150 0.0 18.0(13 17 1INV +2 +3 -150 20 160 6 8 3vN-1 &3 -100 1.0 17.0
16 410843 Bésta kontrakt 17 & K Bésta kontrakt 18 « EDI10 Bésta kontrakt
Vast v Kn106 2NTV =-120 Nord vED76 34 O =-140 Ost v D87 5# O D -3 500
ov + Kn4 Ingen + K964 NS + K863
#E1096 & ¢ v & NT *E865 & ¢ v & NT #E73 & ¢ v & NT
497 # DKn6 N54675 4 Knl109654 4 E732 N7 88 46 » K53 8 N5 8 5 109
vD94 vE32 S546765 v10 v K432 S77836 v 10954 vEKG62 S58598
+ D862 ¢ EK103 089 7 6 8 + Kn8 ¢E72 06 5597 495 ¢ EKn72 085833
#5432 #KD7 V89768 #KKn102 *74 V65597 210962 #KKn54 V75733
» EK52 «D8 & Kn97642
v K875 v Kn985 v Kn3
4975 + D1053 + D104
#Kn8 #D93 D8
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
4 3 24 N= ¢ A 110 180 00| 4 3 44 0-1 v8 50 180 00| 2 8 INO-3 a2 150 16.0 2.0
5 1 34N-1 ¢A -50 15.0 3.0|13 12 2v N-1 &7 50 16.0 20| 5 1 4v0-3 a4 150 16.0 2.0
7 9 24 N-1 ¢ A 50 150 3.0| 2 8 4vS-2 aJ -100 120 6.0 7 9 2NN+1 o7 150 16.0 2.0
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15 17 24 N-2 ¢A -100 120 60| 5 1 4y N-2 s A -100 120 6.0 4 3 34 S= *9 140 9.0 9.0
2 8 1¢ O+2 &K -110 8.0 10.0(14 18 2NS-2 a] -100 120 6.0({10 6 24 N+1 vA 140 9.0 9.0
10 6 1¢ O+2 4A -110 80 100| 7 9 3a V= oK -140 8.0 10.0(13 12 34 N= vA 140 9.0 9.0
11 20 1¢ O+2 #J -110 8.0 10.0(19 16 24 V+2 +6 -170 6.0 12.0(19 16 24 S+1  v5 140 9.0 9.0
13 12 INO+1 a5 120 3.0 15.0(10 6 4vDS-2 4J -300 4.0 14.0(14 18 INN+1 ©vA 120 4.0 14.0
14 18 INO+1 4A -120 3.0 15.0(11 20 44 V= vA -420 1.0 17.0|11 20 24 N= vA 110 2.0 16.0
19 16 3¢ O+1 4A -130 0.0 18.0(15 17 4e V= *A -420 10 17.0|15 17 34 S-1 v5 -100 0.0 180
19 & EKKn5 Basta kontrakt 20 & KKn632 Basta kontrakt 21 & DKn7 Basta kontrakt
Syd v D982 6NT S =990 Vast v7 4v V =-620 Nord v 853 2NT O =-120
ov ¢ KKn4 Alla + E98 NS + D62
*E6 & ¢ v & NT #EKG5 & ¢ v & NT #K954 & ¢ v & NT
4D103 4986 N 8 8 121212 49 «E10875 N6 7 376 + K65 « E43 N55565
v6 v 1073 S 8 8 121212 vEK842 vD965 S67376 v K109 v E42 S5566°5
¢ED86 ¢10952 054111 ¢D753 +K O6 5 106 7 ¢ E109 ¢ Kn83 087778
#D9754 #Kn83 V54111 #Kn93 D87 V 6 5 106 7 #Kn1062 #E873 V87778
4742 «D4 «10982
v EKKn54 v Kn103 v DKn76
73 ¢ Kn10642 ¢ K754
#K102 #1042 «D
Par Kontr ut Res Poang Par Kontr ut Res Poéng Par Kontr Ut Res Poéng
5 4 6vS= *4 980 150 3.0|10 7 3NO-1 +3 100 170 10|16 18 3NV-2 v8 100 18.0 0.0
8 1 6vS= *A 980 150 3.0|15 19 4v V-1 *A 100 170 10| 5 4 3NO-1 oT 50 160 2.0
14 13 6v S= v6 980 150 30| 6 2 1aN-1 v6 -100 12.0 6.0(15 19 Pass 140 4.0
16 18 6v S= v6 980 150 3.0|12 20 24 N-1 v6 -100 120 6.0 6 2 INV= *4 -90 110 7.0
3 9 4v N+2 v3 480 70 11.0|16 18 3¢ S-1 a9 -100 120 6.0(14 13 INO= a2 -90 110 7.0
6 2 5vS+l &3 480 70 110 3 9 3v V= v7 -140 6.0 12.012 20 2¢ S-1 *] -100 8.0 10.0
10 7 4v S+2 #4 480 70 110| 5 4 3v V= *A -140 6.0 12.0(11 17 INV+2 #4 -150 6.0 12.0
12 20 4v S+2 #4 480 70 11.0| 8 1 3v V= *A -140 6.0 120 3 9 3NV= «Q -400 3.0 15.0
15 19 3NS+2 #4 460 20 16.0|14 13 3«4 N-4 vQ 400 2.0 160 8 1 3NV= &5 -400 3.0 15.0
11 17 4y N+1 46 450 0.0 18.0|11 17 34DN-3 v¥6 -800 0.0 18.0(10 7 3NV+1l «Q -430 0.0 18.0
22 4 D965 Basta kontrakt 23 4« ED1053 Basta kontrakt 24 D64 Basta kontrakt
Ost v EKn83 INTN =90 Syd v Kn9 6NT S = 1440 Vast v 9742 5 N =400
ov + Knl0 Alla ¢ 842 Ingen +E
#Kn86 & ¢ v & NT #K83 & ¢ v & NT #EKD108 & ¢ v & NT
4K102 4 EKn73 N6 7767 « 864 K7 N 9 10111212 4952 « K1087 N 118 9 8 9
v1072 vD65 S47765 v72 v K643 S 9 10111212 v K53 vD1086 S 108 8 8 9
+92 ¢ KD73 076666 ¢ Kn1073 ¢ 965 042211 ¢ K9864 ¢ DKn 025454
#K7542 #D10 V65566 #Kn1094 #D765 V42211 &Kn7 #943 V25454
484 4 Kn92 4 EKn3
v K94 v ED1085 v EKn
+ E8654 ¢ EKD ¢ 107532
#E93 SE2 #652
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
7 3 3NN= v3 400 180 0.0(10 8 6NN= ¢5 1440 170 10|16 11 3NS+2 +v3 460 18.0 0.0
13 20 INV-2 v8 200 16,0 20|13 20 6NS= ] 1440 170 10| 4 1 3NS+1 +4 430 150 3.0
16 11 INV-1 46 100 140 40|12 18 64 S= a4 1430 140 40|12 18 3NS+1 3 430 15.0 3.0
9 2 2vS-1 9 50 11.0 70|16 11 3NS+3 ¢J 690 110 70| 6 5 3NS= 49 400 120 6.0
15 14 2NN-1 3 50 11.0 7.0(17 19 3NS+3 #J 690 110 7.0 9 2 INS+3 a2 180 9.0 9.0
4 1 INV= 46 90 7.0 110 6 5 44 S+2 #J 680 6.0 12.0{17 19 INS+3 ¢33 180 9.0 9.0
12 18 INV= 46 90 7.0 110| 7 3 54 S+l ¢33 680 6.0 12.0(10 8 INS+2 a2 150 4.0 14.0
6 5 INV+l &5 120 4.0 14.0(15 14 44 S+2 %] 680 6.0 12.0(13 20 INS+2 ¢4 150 4.0 14.0
10 8 INV+2 46 -150 2.0 160 9 2 3NS+2 4] 660 20 16.0|15 14 2NS+1 49 150 4.0 14.0
17 19 INDV+1 46 -380 0.0 180 4 1 6vS-1 *9 -1000 0.0 180 7 3 2¢ S= 3 90 0.0 18.0
25 476 Bésta kontrakt 26 D853 Bésta kontrakt 27 4 D753 Bésta kontrakt
Nord v EK 4%« N =130 Ost vD72 5NT O =-660 Syd v92 4v V =-420
(0)) ¢ 654 Alla ¢ 107 Ingen + Kn82
#KKn10732 & ¢ v & NT +D1086 & ¢ v & NT #K842 & ¢ v & NT
D103 & Kn82 N 104 4 8 5 4Kn92 #EK10764 N 4 7 4 2 2 » Kn9864 +102 N86 3414
vD9 vKnl08753 S 104 4 8 5 v K83 v Kn64 S47 422 vEKD10754 vKn8 S86 344
¢ EKDKN1092 ¢ 7 038848 ¢EDKn2 +¢5 O8 6 8 1111 | 5 ¢ KD643 05 7 109 9
*8 #E54 vV 388438 #E32 *K75 V8 6 8 1111 | *- #ED107 vV 57 108 9
« EK954 .- «EK
v 642 v E1095 v63
+83 ¢ K98643 ¢ E1097
»D96 #Kn94 #Kn9653
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéng
16 15 5¢ O-3 4A 300 180 00| 8 4 640-1 vA 100 170 10|13 19 2&#V-3 v9 150 18.0 0.0
7 6 4e V-2 46 200 150 3.0(18 11 44 O-1 &5 100 170 10| 5 2 4vyDV-1 #4 100 16.0 2.0
18 11 4e V-2 vA 200 150 3.0(13 19 34 O+1 4 -170 140 4.0(16 15 5v O-1 4A 50 140 4.0
8 4 34 S= ¢A 140 110 7.0{14 20 44 O= *] -620 11.0 7.0({10 9 2v V+2 &4 -170 110 7.0
13 19 24 S+1  ¢A 140 110 7.0(17 12 44 O= *4 -620 11.0 7.0(18 11 3v V+1 &4 -170 11.0 7.0
1 3 4&N-= o7 130 6.0 120| 7 6 3NV+l1 &8 -630 8.0 10.0f 1 3 2NO+2 43 -180 8.0 10.0
14 20 4 N= 7 130 6.0 120| 1 3 44 O+1 &9 -650 4.0 140 7 6 4v V= &K -420 4.0 140
17 12 4 N= o7 130 6.0 120| 5 2 44 O+1 ¢4 -650 4.0 140| 8 4 4v V= *4 -420 4.0 140
5 2 3¢V-1 a7 100 10 17.0(16 15 44 O+1 &3 -650 4.0 14.0(14 20 4v V= *2 -420 4.0 140
10 9 3NV-1 &T 100 10 17.0(10 9 4¢DS-4 &9 -1100 0.0 18.0|17 12 4vyDV= 24 -590 0.0 18.0
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